Sr Questions Answers Choice

A. Chemicla fertilizers

. Plant protection measure
. Improved seeds

. All of these

1 Which of the following measures are increasingly being used in agriculture.

Inflation
Unemployment
. Employment

. Low investment

2 It has a negative impact on the development of the country.

grows
can suffer
May prosper
. All of these

3 If inflation is controlled and at reasonable levels, the economy of a country.

Low

High

. Controlled
Ends

4 Consumers have more money to buy goods and services when inflation is.

EDI
OECD
HDI
GNP

5 It is a summary of measure of average achievements in key dimensions of human
development.

. Per capita energy consumption
. Percentage of labour force in
6 It is obtained by dividing totla national income to the nation's population. primary actvities

C. Per Capita GNP

D. EDI
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A. Per capita energy consumption
B. Per Capita GNP

7 This measureseems the best indicator of economic well-being. C. Percentage of labour force in
primary activities.
D. None of these

A. Per Caita GNP

B. Per capita energy consumption
8 Most of the economists differentiate rich and poor anations by this measure. C. Percentage of labour force in

primary activities

D. All of these

A. Economic progress
9 It may by conveived of in term of a rise in per capita income B. Economic grwoth
' C. Economic development
D. aand b both
. Economic progress
. Economic growth
. Economic development
. None of these

10 It means a change in national income.
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